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QUESTION 1

The use of the Cisco Bi-Di 40G transceiver provides cost effective transition to a 40G ACI fabric through transmission
over which cabling plant? 

A. Category 6a copper 

B. single pair of OM3/OM4 MM fiber 

C. single pair of SM fiber 

D. Twinax copper 

Correct Answer: B 

 

QUESTION 2

Which four types of devices can be connected to a leaf device in an ACI fabric? (Choose four.) 

A. virtualized servers 

B. 10M Ethernet devices 

C. Layer 4 to Layer 7 services nodes 

D. Layer 2 switch using FabricPath 

E. bare metal servers 

F. Layer 3 routers 

G. another leaf 

Correct Answer: ACEF 

 

QUESTION 3

Which three options are the primary benefits of a leaf-spine architecture? (Choose three.) 

A. linear scalability 

B. robust multipathing 

C. use of Rapid PVST 

D. deterministic latency 

E. increased scalability of the proxy database 

F. 1.5:1 oversubscribed ports 
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G. best suited for integration into an access/aggregation/core topology 

Correct Answer: ABD 

 

QUESTION 4

Which three elements of the ACI fabric contribute to zero-touch deployment capability? (Choose three.) 

A. centralized controller for policy, bootstrap, and image management 

B. topology auto discovery, automated configuration, and infrastructure addressing 

C. loose wiring validation 

D. support for iBGP confederations 

E. NX-API and NETCONF protocol interfaces 

F. orchestration using Visore 

Correct Answer: ABC 

 

QUESTION 5

Which overlay protocol does Cisco AVS for vSphere use to allow the ACI fabric to extend over an existing network
infrastructure? 

A. GRE 

B. IPsec 

C. NVGRE 

D. VXLAN 

E. OTV 

Correct Answer: D 
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